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Period: Date:

“'oM10 - Chapter 4 PRACTICE Test - Calculator Permitted

/20 Multiple Choice: Choose the BEST answer. Record your answer on the line

( j 1. Identify the index of3f 10* .

a. 10° b. 10 c. 4 3

Z

L 2. Evaluate 4/0.512. Use Ca(o v— buﬂpn... (7

a. 0.64 b. 0.1706 @o.s d. 0.008

256 4 /~e
( 3. Evaluate 4 5 }’9_2_6'___

oas

Al

Use :\(/—bm‘/on for MA malie iade x L?//
.y

16 16
a = b. % @

Q 4. Which of these numbers is rational?

IEVR FEYRR 1
2L, 3, o r v T 7)

@ %1 b. ~J0.121 c. 24 d 25

Q‘ 5. To which set(s) of numbers does —+/ 16 belong?

wnln
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I | Natural - \) lé - _L’ ‘V]D{- Mmlu/\@(
C/ﬁJ Integer iA\lf en
@/) Rational o PA"‘H’?#\{‘ I

IV | Irrational '

- nof [/\N\ {-Iama |
c. Il only d. 1, I and I only

I and I1I only b. IV only



‘Name:

— 53
L 6. Write 5

A/ 3 as an entire radical.

a. 475 11875 c. 4405 d. 25
_C 7. Write A/ 112 in simplest form. = \‘ ”1 - \i Iéx 7
Kl
=17
a. 74 b. 1647 @4«/7 d. 428

_Q .8. Write «\/-1_7g in simplest form. R ,\Eb; “_(—

a. 75 b. 2547 @5«/7 d. 535

C 9. Order these numbers from greatest to least: 2'\/_ 3«/_ 2«/_ 5«/— 2»\/_
={A30,:65, &7, ({3, ={113

-—JCTD:'O -é—;,-gs, ﬁ'ff; *—Jg

a. 2413,247,343,545,2430 (%) 545,243, 2J—2J—3J—
b. 545,2+/30, 34/3, 2413, 24/7 d. 3+/3,54/5,24/30, 24/13,24/7

5[';, :{J_w/ QJ'.‘;;’ Dﬁ, 33

| g )
Q 10. ertex as aradlcal

@ (9\/;)5 b. Nx* c. (5«/;)4 d. 1'2'3/;

NG
_ 7" ‘F‘O\l’e Ppw{f _% it A
11. erte as a power. ;l
L = 2 A7
: (%J SRS N MO



3 -3
Name: ' \/Cul;c: e 760 - € X\o .
6 \1’7;_ 0 - é:

ube as a power (expo

Q 12. A cube haé vdlﬁme ’7.60 cubic 1nches Write the edge length of the ¢

1
760° in. b.  760° in. c. 7607 in. d. /760 in.

_E 13. Evaluate( 8"3\ -

a. —512 b.

A1)
Q_ 14. Evaluate((-27) 3./ —

-3
_q 15. Which power with a negative exponent is equivalent to 1 ; 5 ?7 = ’—I-— = 5 :

@ 57 b. -5 c. 37 d (-5)°

2\ s
16. Simplify i

o'V Write using powers with positive exponents.
Pq

':'7 = __3’&7'_%_? = 3 b
©9p9'9y  5g°
p° 3p’ 3p° 3p°
" lag® % 3F “ 5q o 59°
Over A



Name: ) ID: P

12 510
45t || =35 ‘17 L

C 17, Simplify

a. —12st§ b, —
L
62,5 )2
O 18. Simplify [Q%ﬂ .z
4 3yt
% b. 3x*y* c % d xié
3 3 5 & % oY ‘% = >
ﬂ 19. Evaluate [%]4 [—%]4 = | — z ? -l — - _2:- :@
4 b 25 = d = ;lg
0 25 © 4 =, K5 2

_d__ 20. Evaluate (a:;b'z) (aﬁb'3) fora=-1 an(} b=2 \/j\/

- Qq a‘% g L”.g_- , .._._-—--—-.., = -—L =
:f"G}; l()%:} = -é-,—-b—, how.., a:—l, E:l/ so...(_,)r(;)s (_ Q(m 8
a. -32 b. % c. 64 0 ~3—12



